C12 - 8.4 - log, m + log, n = log, mn, log, m — log, n = logb% HW
Simplify, express as a single log

log3 + log4 = log, 5 +log, 6 = logs 20 —logz 4 =

2log,8—1log, 16 = log32 — 3log2 = log; 5 +1log; 3 +1log, 4 =

log, 4 +log, 5 — 2log, 10 = logz 4 + 2log; 20 —logs 10 =

log5 — log2 — log10 = log5 —log2 + log10 =

—log8 —log2 + log5 =
log4 —log2 + log10 = °9 0ge+log

Express as an addition of logs

log(4 x 3) = log(2 x5x%x7) log4 = log9 =
log10 = logl5 = log21 = log25 =
log30 = log36 = log20 =

Express as a subtraction of logs

10 3 log5 = log7 =
log 3= logl=| =

2
lOg 0.1= lOgO.S
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C12 - 8.4 -log, m +log,n =log, mnlog, m — log, n = log, — HW
&b 8b 1297} ) ) b

Express in terms of loga, logb, logc

= b a
logab log <E> - log (E) =
b
log <a—> = log100a?b® = 1642
c log, =
log <—3> = c?
bye log10a2 - log(bc)? =
log(avb) = log(Vab) =
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C12-8.4-log, m + log, n = log, mn log, m — log, n = log, = HW

Express in terms of log3 and log4.

logl2 = log36 =
1 L
log0.12 = %876 =

Simplify the expression.

log(x +1) +log2 =

3
logym +logm?2 =

log(x + 2) + log(x + 3) =

n

log48 = log120 =

log(x?) — logx =

log, x — 2log, 8 =
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logn? — 2logyn =

logs x + 2log; 4 =

log(x? + 5x + 6) —log(x + 3) =



C12-8.4-log2 =m,log3 =n, HW

Given: log2 =m log3 =n Solve in terms of m and n:
log4 = log6 = log =
lOg24- = log]_8 = lOng _
log20 = log600 = log0.3 =
log2x = log9x = log0.02 =
6 log1.08 =
logl5 = log0.6 g
log5 =
log0.54 = °9
log0.06 =
log, 1728
log1216 log, 72 = 6
2
Given: log9 = a log25 =b Solve in terms of a and b:
log15 = 3
log3 = 0g = logg =
lOg300 = logl_é =
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